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Classification 

 

Self-Evaluation Test 

 

1. Which of the following pair of letters is 

different from the other three? 

 (a) LT-HF  (b) IN-VA 

 (c) ZE-XM  (d) RB-SC 

 (e) None of these 

 

2. Which of the following pair of letters is 

different form the other three? 

 (a) AE-OL  (b) UI-OE 

 (c) IO-UE  (d) EA-OU 

 (e) None of these 

 

3. Which of the following pair of letters is 

different from the other three? 

 (a) POT-TOP            (b) TAN-ANT 

 (c) BIN-NIB            (d) DUB-BUD 

 (e) None of these 

 

4. Which of the following pair of letters is 

different from the other three?  

 (a) VWX-OCU       (b) IFH-SGQ 

 (c) LAN-BDR          (d) EJP-ZTY 

 (e) None of these 

 

5. Choose the item which is not similar to the 

other items.  

 (a) TOP                  (b) ZAY 

 (c) XCW              (d) BYC 

 (e) None of these 

 

6. Choose the word which is not like the other 

words in the group.            

 (a) Horse           (b) Cow                              

 (c) Goat               (d) Buffalo                          

 (e) None of these 

 

7. Choose the word which is not like the other      

in the words in the group. 

 (a) Red    

(b) Black 

 (c) Green   

(d) Colour 

 (e) None of these 

 

8. Choose the word which is not like the other 

words in the group. 

 (a) March  (b) July 

 (c) August  (d) April 

 (e) None of these 

                                                        

9. In the following question, four group of 

words are given« Choose the word which 

not like the other words in the group. 

 (a) Wheat  (b) Mustard 

 (c) Rice   (d) Peanut 

 (e) Gram 

 

10. In the following question, four group of 

words are given. Choose the word which 

not like the other words in the group. 

 (a) Freeze                (b) Simmer 

 (c) Bake                  (d) Boil 

 (e) None of these 

 

11. In the following question, four group of 

words are given. Choose the word which 

not like the other words in the group. 

 (a) Needle  (b) Pencil 

 (c) Spade  (d) Candle 

 (e) None of these 

 

12. Choose the word which is not like the other 

words in the group. 

 (a) Rectangle  (b) Rhombus 

 (c) Square   (d) Circle 

 (e) None of these 

 

13. Choose the word which is not like the other 

words in the group. 

 (a) Huge  (b) Tiny 

 (c) Heavy  (d) Small 

 (e) None of these 

 

14. Choose the word which is not like the 

words in the group.                

 (a) Moon  (b) Football 

 (c) Earth  (d) Bangle 

 (e) None of these 

 

15. Choose the word which is not like the other 

words in the group« 

 (a) Shimla                (b) Ooty 

 (c) Dehradun          (d) Darjeeling 

 (e) None of these 
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16. Choose the word which is not like the other 

words in the group. 

 (a) Moscow               (b) London 

 (c) Paris               (d) New York 

 (e) None of these 

 

17. In the question some numbers have been 

given, out of which one does not fit in the 

given sequence. Choose the misfit number:     

(a) 27                      (b) 125 

 (c) 1321                  (d) 729 

 (e) None of these 

 

18. Find the option that does not belong to the 

group. 

 (a) 144                   (b) 169 

 (c) 256                   (d) 288 

 (e) None of these 

 

19. Three of the following four are alike in a 

certain way and so form a group. Which is 

the one that does not belong to the group? 

 (a) 43                     (b) 53 

 (c) 63                    (d) 73 

 (e) None of these 

 

20. Three of the following four are alike in a 

certain way and so form a group. Which is 

the one that does not belong to the group? 

 (a) 488                   (b) 667 

 (c) 776                 (d) 929 

 (e) None of these 

 

Answer – Key 

 

1. (D) 2. (A) 3. (B) 4. (C) 5. (A) 

6. (A) 7. (D) 8. (D) 9. (C) 10. (A) 

11. (D) 12. (D) 13. (C) 14. (D) 15. (C) 

16. (D) 17. (C) 18. (D) 19. (C) 20. (B) 

 

Explanation 

 

1. Explanation 

Option (d) is correct. All other groups have letters 

made by straight lines only. 

 

 

 

2. Explanation                                                                       

Option (a) is correct. All other pairs have only 

vowels. 

 

3. Explanation 

Option (b) is correct. In all other groups, the letters 

in the first part are written in the reverse order in 

the second part. 

 

4. Explanation 

Option (c) is correct. In other groups, the letters 

on the left are made with straight lines and the 

letters on the right have curved lines.                                         

 

5. Explanation                                                                      

Option (a) is correct. In all others, the first and the 

third letters are in reversed order. 

 

6. Explanation 

Option (a) is correct. Horse is a male while all 

other are females and give milk. 

 

7. Explanation 

Option (d) is correct. All other are the names of 

the colours. 

 

8. Explanation 

Option (d) is the correct. Except April all months 

have thirty one days. 

 

9. Explanation 

Option (c) is correct. Rice is a kharif crop, while 

all others are rabi crops. 

 

10. Explanation 

Option (a) is correct. All other terms are related to 

cooking. 

 

11. Explanation 

Option (d) is correct. Except ‘Candle’ all other 

articles have one of its ends sharp or points. 

 

12. Explanation 

Option (d) is correct. All other figures have edges. 

 

13. Explanation 

Option (c) is correct. All other items except in (C) 

gives a measure of size while item in option (C) 

gives a measure of weight. 
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14. Explanation 

Option (d) is correct. All other item except in 

option (d) are three-dimensional figures. 

 

15. Explanation 

Option (c) is correct. All other cities are hill 

stations. 

 

16. Explanation 

Option (d) is correct. Except ‘New York’, all 

others are capitals of some countries. 

 

17. Explanation 

Option (c) is correct. All others except (c) are the 

perfect cubes. 

 

18. Explanation 

Option (d) is correct. Except 288 all other 

numbers are squares of natural numbers. 

 

19. Explanation 

Option (c) is correct. All other numbers except 63 

are prime numbers. 

 

20. Explanation 

Option (b) is correct. Except 667, the sum of the 

digits of all the numbers is 20. 


